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(English Version)

Instructions :

(i)
(it)
(iii)

(iv)
(v)
(vi)

(vit)

First 15 minutes are allotted for the candidates to read the question paper.

All questions are compulsory.
ns No. 1 to 8 are Multiple Choice Type Questions. Questions No. 9 to 16 are
Very Short-Answer Type Questions, to be answered in about 20 words cach, Questions

No. 17 to 22 are Short-Answer Type Questions, to be answered in about 50 words each
and Questions No. 23 and 24 are Long-Answer Type Questions, to be answered tn about
150 words each. Questions No. 25 and 26 are Map-related Questions.
Marks allotted to all the questions are mentioned against them.
Itlustrate your answers with suitable sketch maps and diagrams.

Tear off the supplied maps from the question paper, indicate answ
compulsorily attach them firmly to your answer-book.

For visually-impaired examinees, questions have been gwen s
answers in lieu of map-work.

(Multiple Choice Type Questions)

Questio

ers on them and

eparately for writing

Write the correct answers of the following questions in your answer-book :

1.
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Who amongst the following presented the concept of neo-determinism ? 1
(a) Jean Brunhes (b) Griffith Taylor
(¢) E.C.Semple (d) Karl Ritter
The largest country according to population size is : 1
(a) USA (b) Brazil
(¢ China (d) India
Which one of the following is not a primary activity ? 1
(a) Transport (b) Mining
(¢)  Agriculture (d) Hunting
Human settlements developed along the road are : 1
(a) rectangular (b) linear
(¢c) circular (d) square
India’s population as per 2011 census was : 1
(a) 1210-1 million (b) 1088-3 million
(¢) 1350-1 million (d) 1305-8 million
P.T.O.



9.
10.
11.
12,
18,
14,
15.

16,

117.
18.
19,
20.
21.

22.

Bhilai city of India is famoyg for :
(a)  Cotton textile industry (b) Sugar industry
(¢)  Iron and steel industry (d) Jute industry

Which one of the following is not a problem of urbanization ?
(a)  Extensive agriculture (b) Slum area

(¢)  Traffic problems (d) Industrialization

Which one of the following river is most polluted ?

(a) Narmada river (b) Yamuna river

(¢)  Tungabhadra river (d) Sutlej river

(Very Short-Answer Type Questions)

Explain the scope of human geography.
Mention any two densely populated areas of the world.

Write the names of two services of quaternary activities. 1+1]

Mention the types of urban settlements. 2

Define Sex Ratio. 2
Describe the characteristics of Tribal settlements in India. 2
Define water pollution. Describe main sources of water pollution. 1+1]

Describe urban waste management. 2

(Short-Answer Type Questions)
Discuss the factors for uneven distribution of population in the world. f
Differentiate between secondary and tertiary economic activities. 242
Discuss the problems of urban settlements in the developing countries, 4
Mention the four causes of migration from rural to urban areas in India. 1+1+1+]

Define clustered settlements and mention the areas where more clustered
settlements are found in India. 242

Mention the chief characteristics of Hill Area Development Programme in India. 4
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(Long-Answer Type Questiong)

23. Humﬂ --.‘ ‘ v

man and the unstable earth.” Examine this statement
OR ' 6
What do you mean by sub-fields ? Menti
ThRA - 4 E‘I'lt 2 : . .
geography. lon the main sub-fields of human
244

24. Wh { '
'hat do you mean by land degradation ? Suggest measures for minimizing land

degradation in India. :
oR 3+3

In w%n’ch State is Indira Gandhi Canal Command Area located ? What is its

contribution for the promotion of sustainable development in India ? o 2+4

-

(Map-related Questions)

25.  Show the followi - :
hm-; the following by suitable symbols in the given outline map of India
(on Page 9) and write their names also :

(1) The State with the highest female literacy. 1.
() Capital of this State. e
(iii)  An important Iron and Steel plant of Jharkhand State. Ly
(iv) State with largest production of cotton. -
(v}  Petroleum producing State in Eastern India. Lyl
5 o
Only for visually-impaired examinees in place of Question No. 25:
Instructions :  Write the answers of the following questions in your nsiwer-book.
Do not use the map.
(i)  Write name of the State with the highest female literacy. !
(ii) Write the name of the capital of this State. !
(iii) Write the name of an important Iron and Steel plant of Jharkhand State. 1
(iv) Write the name of the State with largest production of cotton. 1
(v} Write the name of a petroleum producing State in Eastern India. !
P.T.O.
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. . the
96. Show the following by suitable symbols in the given outline map of

World

(on Page 11) and write their names also :

I

i)  Continent with minimum population in the Southern part of the world. s
I_

(ii) The largest city of Great Britain. 2
!

(i) One major area of Iron and Steel industry in USA. 2
1

(iv) Country with the highest Human Development Index in the world. o
} !

(v}  Country with the largest population in South America. 9

Only for visually-impaired

examinees in place of Question No. 26 :

. : ) . tions in your answer-book.
Instructions :  Write the answers of the following question Y

Do not use the map.

(i) Write the name of the continent with minimum population in the Southern

part of the world.

(i)  Write the name of the largest city of Great Britain.

(111)
(iv)
1n the world.
(v)
America.
322 (AO)

Write the name of one major area of Iron and Steel industry in USA.

Write the name of the country with the highest Human Development Index

Write the name of the country with the largest population in South



